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I ndian Army Clerk sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER CLERK

TIME - 1 HR.

QUESTIONS - 50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

01. The first lady Governor of
independent India was:
WA WRd &1 ggdlt Afgar Isaard
a. Vijaya Lakshmi Pandit / faora @esft
Ufgd
b. Sheila Dixit / ftar faférd
c. Sarojini Naidu / SRS A1Ig

d. None of these / TR A IS el

02. MODVAT is related to
=N geg-aftia w3 (MODVAT) &1
T fpad 27
a. Sales Tax / fawl-ax
b. Wealth Tax / 49-x
C. Income Tax / 3g-HI
d. Excise Duty / 3dIg Jeh

03. Which is the Capital of Bhutan?
YT Pt YT T 32
a. Paris /U9

b. Kabul / H1gd

c. Thimphu / g
d. Tehran/d&m™=

04. Gobar gas mainly contains?
TR A9 & U1I: S 91 39 gian &2
a. Carbon dioxide / ®Te SR 3flaSS
b. Carbon Monoxide / &T&T
BIEICICRIESS
c. Hydrogen Sulphide / grZsioH

SRS
d. Methane / 19

05. Myanmar is the name of
R faeT A 32
a. Bhutan /Y™
b. Thailand / ¥Eag

c. Burma/sHf
d. Sri Lanka / fide®r

Q6. Stainless steel is an alloy whereas air

isa

WA WA TP YTg 8 TP gar
. Gas/™g

Mixture / fisor

Compound / ifi&

Solution / afd

on T oo

07. Atomic theory was invented by

Ry Riegia &1 @i foa 3t &
a. Benjamin / dSfHA
. Marie Curie / HTRT &3

b
c. Albert Einstein / Tesc Mg
d. John Dalton / Sii9 S

08. MacMahon line is between

ApHgd asd feT3m d A @

a. India & Pakistan / HRd 3R Urfred

b. Pakistan & Sri Lanka / UTfd 3R
it

c. India & China / HRd 3R I

d. Pakistan & China / tifeesd 3R =

09. Seismograph is used to measure:

e 1 frg v & g
WART féan Sran 82

a. Rainwater / asf

b. Depth of water / Ut &t T8RS
c. Speed of wind / argaTT

d. Earthquake / Y™
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10. Which period is known as the Golden  15. Find the median of the following

Age in Indian History? numbers
YRt sfogra & fra g &Y wof Frafafeaa Jemnsi ot aifers g sifve)
gﬂ%mﬁmmg 2,10,9,95,2,3,7, 11,

a. Aryans period / 3 g
b. Guptas period / I g
c. Mauryas period / @ g
d. Slave period / &id g

~N o o1&~

16. If 2x + y= 35 and 3x + 4y= 65, find

11. 8:2::1: 4 the value of xy:
a. 16 Tfe 2x + y= 35 M 3x + 4y= 65 BT
b. 24 CIERICKdIE LY
c. 32 a. 6
d. 26 b. 3
c. 9
12. The average of the following d. 12
numbers is 21. 18, 15, x, 22, 31. Find
the value of ‘x’: 17. A man goes 15 m due west and then 8
fFPrafefaa demnsi &1 siaa 9 21 m due north. Find the shortest
8: 18, 15, x, 22, 31 H X BT UH 91 distance from the starting point.
P U Afea aiyy fe=m & 15 . smar
a. 10 2 SR qd fomm & g it S @ <t
b. 12 UR®Y fdg A 9@t gAaw gt
c. 14 o ghft?
d. 19 a. 15
b. 16
13. If the diameter of a semi-circular c. 17
protractor is 14 cm, then find its d. 18
perimeter; (1=22/7)
afe TP STgarPR HIVHUS BT 18. If an article purchased for Rs 60 is
T 14 T 8 A 3HST U §1d sold for Rs 80 what is the % of profit
BITT: (n=22/7) or loss on sale
a. 22 i HIg avq 60 &. § T WY 3R
b. 30 80 %. H 9 9T <t fpa=t wfa=ma
c. 32 ATY T g1 g
d. 36 a. Profit 40% / dTH 40%
b. Profit 50% / @TH 50%
14. For what value of k, the equation c. Profit 25% / @Y 25%
4x2+ kx+9=0 d. Profit 33.33% / &4 33.33%
K & foa a9 & g g
42+ kx + 9 = 0 §ITT? 19. A 200-meter-long train passes a pole
a. 12 in 15 seconds, what is the speed of the
b. 10 train?
c. 14 TS 200 Hiex q IS, Th
d. 16 foorelt @1 @R #Y 15 P8 A UR
FRell & ) YerTSl Bt A
71 g
a. 48 Km/hr
b. 32 Km/hr
c. 50 Km/hr
d. 40 Km/hr
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20. Calculate the simple interest on Rs
4000 for 3 years at 8% per annum:
4000 ¥ D Ja T U 8% TS
TP R W 3 T ST ATYRUT TS
I Bl
a. 850
b. 960
c. 980
d. 880

21. Full form of R A.M is:

XU BT R ATT RIT 8?2

a. Real Access Memory / faa Tai
Rt

b. Random Access Memory /¥gH
TR AR

c. Random Available Memory / ¥sH
fdcige HERT

d. None of these / 378 9 18 g

22. An item found on the standard office
toolbar:
WS SHhT g TR T UTaT STdl 82
a. Save Button/dd §eA
b. File/®rga
c. Help/g&
d. Printer Shortcut/fiex 2Mcwe

23. The programming language that the

Computer understands is:

WRITH &1 HTaT e $ger 9 82
Machine language / 7= dast
Computer language / &ex das
Source program / I Y
None of these / 378 9 s a1

o0 o

24. Which of the following is not a part of
C.P.U?:
s A S A AR g &1 U A |2
a. Processor/gRIRR
b. ALU/TTAY
C.  Primary Memory/STSu_l Bt
d. CMOS Battery/Rft tq 3t 59 St

25. Which is related to an Internet?
3T | T e I 9HEfyd 82
a. Telnet/eae
b. E-mail / 3-8d
c. UPS/gulwy
d. None of these / 3780 q PIs gl

26. What do you understand by ALU?
uﬁgﬁ 31T T T 82
Access Logical Unit/teid difoied
b. Arithmetic and Logical Unit/
sifafes diforea gfe
c. Arithmetic Logic Unit/3ifafes e

e :
a. None of these / 78 ¥ &Is gl

27. How many bites is in 1Kilo Byte?
?mﬁmﬁﬁﬁﬁﬁmsﬁ
b

a. 1000
b. 1024
c. 1096
d. 512

28. How many cycles per second isin 1
GHz?
1 1 géw ® fopat smad= ufa
A4S §Id o2
a. 1,000
b. 100,000
c. 1,000,000
d. 1,000,000,000

29. Which of the following holds the
system date and time?
e e | 99 w4 femie fea o
Tawﬁﬁﬁﬁ%v
a. Control Card / &cia &1
b. SMPS /Ta.ua. gy
c. ROM/H
d. CMOS Battery / fwig et

30. The first file the Computer look for
at the start up is
I 3 F SR HIER GIRT gel ST+ arar
Ted Ugell BIsd B
a. (a) Help /g
b. Auto Exe/3flISTH 3
c.  Command.Com / &Hig. &9
d. Edit.Com/tfse. &
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37. Eutile
a. Fruitful
b. Unsavoury
c. Useless
31. His achievement has been d. Acceptable
incompatible with his efforts.
a. proportionate Pick out the word that is opposite in meaning
b. excessive (Antonyms) amongst the choices for the word
c. consistent underline.
d. inconsistent
38. Oblivion
32. 1 never expected such_licentious a. Observation
conduct from him. b. Remembrance
a. illegal c. Memory
b. full of deceit d. Memorizing
c. irresponsible
d. immoral 39. Obese
a. Thin
33. She marvelled at her husband’s b. Fat
boldness. c. Rigid
a. was greatly surprised d. None of these
b. shocked
c. be happy 40. Naked
d. be proud a. lgnorant
b. Uncivilised
34. He is always making such nebulous c. Clothed
proposals d. None of these
a. ambitious _ i
b. insulting In each of the following question, a sentence has
c. vague been given in active / passive voice. Choose the

alternative which expresses the same passive /

d. impracticable aCtive voice:

35. Dexterous
a. Unskilful
b. Skilled
c. lgnorant
d. [literate

36. Erudite
a. Uncertain
b. Learned
c. Ignominious
d. Entire
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41. You must do the work:
a. The work must be done by you
b. You must have done the work
c. You might have done the work
d. The work must been done by you

42. Always speak the truth:
a. Youshould told the truth
b. The truth should be spoken by you
c. You are requested to speak the truth
d. Let the truth be always spoken

43. None helps the poor:
a. The poor are not helped by anyone
b. The poor are not helped by someone
c. None is helping the poor
d. The poor are being helped by none

44. Let her be told to wait here:
a. She should wait here
b. Wait here
c. Tell her to wait here
d. Ask her to wait

In each of the following question, a sentence has
been given in Direct / Indirect Speech. Choose
the alternative which expresses the same
Indirect / Direct Speech voice:

45. Pinki said to Gaurav, “Will you help

me in my work just know”:

a. Pinki asked Gaurav if he would help
her in her work just then

b. Pinki questioned to Gaurav that will
you help me in my work just now

c. Pinki told Gaurav whether he will
help her in her work just now

d. Pinki asked to Gaurav that will he
help in her work just now

4ono.com  4ono.com
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46. I said to my brother, “Let us go to

some hill station for a change.”:

a. | asked my brother to go some hill
station for a change

b. I asked my brother if he would go to
some hill station for a change

c. | permitted my brother to go to some
hill station for a change

d. 1suggested to my brother that we
should go to some hill station for a
change

47. The Manager said, “Well, what can I

do for you? “

a. The Manager asked what he could
have done for him

b. The Manager wondered what he
could do for him

c. The Manager wanted to know what
he could do for him

d. The Manager said that he couldn’t
do anything for him

Choose the most appropriate answer of the
guestion from the choices given so that the sense
does not change:

48. The glory can never fade (Choose
Interrogative):
a. When would their glory fade?
b. When can their glory fade?
c. How can their glory fade?
d. Who can fade their glory?

49. She is not as intelligent as he (Chose
Comparative):
a. He is more intelligent than her
b. She is more dull than him
c. He is more intelligent than she
d. Heis intelligent more than her

50. It is better to lend than borrow
(Choose Positive) :
a. Borrowing is not as good as lending
b. To lend is good but of borrow
c. One should lend than borrow
d. Lending is not so good as borrowing
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Answer key

1.(c) v 2. (d) v 3.(c) v 4.(d) v 5. (c) v 6. (b) v 7. (d) v 8. (c) v 9. (d) v 10. (b) v 11. (c) v/ 12.

(d) v 13. (3) v 14. (a) v 15. (b) v 16. (b) v 17. (¢) v/ 18. (d) ¥ 19. (c) v 20. (b) v/ 21. (b) v/ 22. (a)
V 23.(a) v 24. (d) v 25. (b) v 26. (b) v 27. (b) v 28. () v 29. (d) v 30. (b)  31. (d) v 32. (d) v
33. (a) v/ 34. (c) v 35. (b) v 36. (b) v 37.(c) v 38. (a) v 39. (a) v 40. (c) v 41. () v 42. (d) v 43,

(@) v 44. (c) v 45. (a) v 46. (d) v 47. (c) v 48. (b) v 49. () v 50. (a) v/
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